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13.6 COMPUTATION WITH EXPONENTS (BEDMAS)

A. Find the standard name (answer) for each of the following.

.

10.

13.

16.

19.

22,

25.

28.

31.

34.

37.

23 + 32

5t + 53

7 -7

P+ 1%

32 . (;3)3
~6)* + 1°
(%7

514+ 52

6 + 6' + 67
3%+ _42'
Ol

50 - 58 + 5

122 - 1271 L1271

2.

11.
14.
17.
20.‘
2,
26.
29,
32.
35.

38.

23 _ 32

17 + 5*

3* 4+ 38

32 x 47
(0-.3)3 - (0.2)?
(-6 + 1°
(%»° +- (%'
62 + 62
(-8 + (-8_)O
45 _ 43

23 . 372

32 .71

(0.02)°

Sk

12.

15.

18.

21.

24.

27.

30.

33.

36.

39.

15 - 15t

7+ 72

6 + 6°

I’ + 62

(=42 - (4

51 4+ 52

8 + 62

7 = 7

(2% - (2

(-5 + (-5)* + (-5)*

33 . 3¢

P+ 20+ 33 4+ 4

(%7~

187




